

$$y = \tan\left(-r + \frac{r}{2}\right) \quad S_{ABC}?$$

$$\tan\left(\frac{r}{2}\right) \cdot 1 = h$$

$$T = \frac{r}{1-r} = 0.46$$

$$\frac{1 \times \frac{r}{2}}{\frac{r}{2}} = \frac{r}{2}$$

$$n^2 - (\sin \alpha)n - \frac{1}{2} \cos^2 \alpha = 0$$

$$\frac{n^2}{n} - \frac{r}{n} \sin \alpha - \frac{1}{2} (1 - \sin^2 \alpha) = 0$$

$$\frac{1}{2} \sin^2 \alpha - \frac{r}{n} \sin \alpha + \frac{1}{2} = 0$$

$$\frac{1}{2} n^2 - \frac{r}{n} n + \frac{1}{2} = 0 \rightarrow \frac{r}{n} \sqrt{1 - \sin^2 \alpha} = \sin \alpha \rightarrow \cos \alpha = \pm \frac{\sqrt{1 - \sin^2 \alpha}}{r}$$

$$1 - \tan^2 \alpha = 1 - \frac{\frac{r}{n}}{\frac{1}{2}} = \frac{1}{2}$$

$$\log(\sin \alpha) - \log(-\cos \alpha) = \log 3 \quad \sin \alpha - \cos \alpha = \frac{3 - (-1)}{\sqrt{10}} = \frac{2}{\sqrt{10}}$$

$$\sin \alpha > 0 \quad -\cos \alpha > 0 \rightarrow \cos \alpha < 0$$

$$\log(-\tan \alpha) = \log 3 \rightarrow -\tan \alpha = 3 \rightarrow \tan \alpha = -3$$

$$1 + \tan^2 \alpha = \frac{1}{\cos^2 \alpha} \rightarrow \cos \alpha = \pm \frac{1}{\sqrt{10}}, \sin \alpha = \pm \frac{3}{\sqrt{10}}$$

$$\sin^2 n + \cos^2 n = \frac{2}{a} \quad \frac{\cos^2 n}{b^2} + \frac{\sin^2 n}{a} = ?$$

$$\left. \begin{aligned} \frac{a^2}{\sin^2 n} + \frac{b^2}{\cos^2 n} &= \frac{2}{a} \\ \frac{a^2}{\sin^2 n} + \frac{b^2}{1 - \sin^2 n} &= \frac{2}{a} \end{aligned} \right\} (1-b)^2 + b^2 = \frac{2}{a} \rightarrow b^2 - b + 1 = \frac{2}{a}$$

$$a = 1 - b$$

$$\sin^2 n = 1 - \cos^2 n$$

$$b^2 + a = b^2 + (1 - b) = b^2 - b + 1 = \frac{2}{a}$$

$$\frac{r \sin \alpha + \sin \alpha \cos n}{r - r \cos^2 n} < 0, \quad \sin n \tan n - \frac{1}{\cos n} > 0$$

$$\frac{\sin(r + \cos n)}{r(1 - \cos^2 n)} = \frac{\sin n(r + \cos n)}{r \sin^2 n} < 0 \rightarrow \sin n < 0$$

$$\sin n \tan n - \frac{1}{\cos n} = \frac{\sin^2 n - 1}{\cos n} > 0 \rightarrow \cos n < 0$$

ربع سوم

$$\frac{r}{\sin n} + \frac{r}{\cos n} = 0 \rightarrow \frac{r \cos n + r \sin n}{\cos n \sin n} = 0$$

$$\tan + \cot = \frac{r}{\sin n} = 0$$

$$\cos n = -\frac{r}{r} \sin n$$

غير معلوم حالت

$$\frac{r}{2} \sin^2 n + \sin^2 n = 1 \rightarrow \frac{1r}{2} \sin^2 n = 1 \rightarrow \sin n = \pm \frac{r}{\sqrt{1r}} \cos n = \pm \frac{r}{\sqrt{1r}}$$

$$\sin^2 n = r \times \frac{r}{\sqrt{1r}} \times \frac{r}{\sqrt{1r}} = -\frac{1r}{1r}$$

$$\frac{r}{-1r} = -\frac{1r}{r}$$

$$\sqrt{1 + \sin 20^\circ} \rightarrow 1 + \cos 10^\circ \rightarrow r \cos 10^\circ$$

$$\frac{\sin 20^\circ + \sin 10^\circ}{\sin(10^\circ + 10^\circ) \sin(10^\circ - 10^\circ)}$$

$$\sqrt{r} |\cos 10^\circ|$$

$$\frac{\sqrt{r} |\cos 10^\circ|}{\sin 10^\circ \cos 10^\circ + \cos 10^\circ \sin 10^\circ + \sin 10^\circ \cos 10^\circ - \cos 10^\circ \sin 10^\circ} = \frac{\sqrt{r} |\cos 10^\circ|}{r \sin 10^\circ \cos 10^\circ} = \frac{\sqrt{r} |\cos 10^\circ|}{\cos 10^\circ} = \sqrt{r}$$

$$\frac{(1 - r \sin^2 20^\circ)}{\frac{1}{2} \sin 10^\circ} \cdot \frac{(r \cos^2 10^\circ - 1)}{\frac{1}{2} \sin 10^\circ} \cdot \frac{(1 - \tan^2 10^\circ)}{\frac{1}{2} \sin 10^\circ}$$

$$\frac{(\sin 10^\circ) \times (\cos 10^\circ) (\cos 10^\circ) (\cos 10^\circ)}{\sin 10^\circ} = \frac{1}{n} \frac{\sin 10^\circ}{\sin 10^\circ} = \frac{1}{n} \cos 10^\circ$$

$$\sin \alpha + r \cos \alpha = r$$

$$2 \cos^2 \alpha - 1r \cos \alpha$$

$$\sin \alpha = r - r \cos \alpha$$

$$\cos^2 \alpha + \sin^2 \alpha = 1 \rightarrow 1 - 1r \cos \alpha + r \cos^2 \alpha + \cos^2 \alpha = 1$$

$$1 - \cos^2 \alpha - 1r \cos \alpha + r = 0 \rightarrow \cos \alpha = \frac{r \pm \sqrt{1r}}{2} \rightarrow \frac{r - \sqrt{1r}}{2}$$

$$2(r \cos^2 \alpha - 1) - 1r \cos \alpha \rightarrow 2\left(r \times \frac{(r - \sqrt{1r})^2}{4} - 1\right) - 1r \left(\frac{r - \sqrt{1r}}{2}\right)$$

$$\sin B \cdot \sin C = \cos^2 \frac{A}{r} \quad B = 2\sqrt{r} \rightarrow (A + \sqrt{r}) - \sqrt{r}$$

$$\sin \sqrt{r} \cdot \frac{\sin(10\lambda - A)}{\sin(A + \sqrt{r})} = \frac{\cos A + 1}{r} \rightarrow r \sin \sqrt{r} \cdot \sin(A + \sqrt{r}) = \cos(A + \sqrt{r}) \cos \sqrt{r} + \sin(A + \sqrt{r}) \sin \sqrt{r} + 1$$

$$* \sin(A + \sqrt{r}) = b$$

$$\cos(A + \sqrt{r}) = b$$

$$r \sin \sqrt{r} \cdot a = 1 + (b \cos \sqrt{r} + \sin \sqrt{r}) \rightarrow a \sin \sqrt{r} = 1 + b \cos \sqrt{r}$$

$$\sin \sqrt{r} = \frac{1 + b \cos \sqrt{r}}{r}$$

$$\sin^2 \sqrt{r} + \cos^2 \sqrt{r} = 1 \xrightarrow{\times \sin^2 \sqrt{r}} (1 + b \cos \sqrt{r})^2 + b^2 \sin^2 \sqrt{r} = \sin^2 \sqrt{r} \rightarrow (b + \cos \sqrt{r})^2 = 0$$

$$a = r \sqrt{r}$$

$$* \rightarrow b = \cos(A + \sqrt{r}) = -\frac{\cos \sqrt{r}}{-\cos 10\lambda} = \cos 10\lambda \rightarrow A + \sqrt{r} = 10\lambda \quad b = -\cos \sqrt{r}$$